«Iwunnwnntyd EG%Z?Z&ZW - |

31/01/2017p /.

Qhnudbbph wwh 2017 p

Muwnyhpwi Unjukpnh gjnenuwtunwnwl

i pjniobitnwhlG swhuubiph gbpwnbuswlwb nwuwywpgit N5\«
Opwahpp NS >
UGJwbniip optGunhp gnpdwnhp dwpdhb ,
pwdhG 01 funiip 1 nwu _1_6pwaghp

(puwn pynipbitnuyhG dwhuubiph gnpéwniwlwh Ywuwlwpgiwd)

QGowl wnwplwjh QGuwG 2wtht|  Uhwinph LOnwakbp Pwlwyp
UhowGghy | whywanidp (nGpwg{shwyn ahp Swluubip
CPV nuwuwywnpgiwl Ywing) (npw) (npwy)
1 | 2 3 | 4 5 6 7

Ulunwﬁpﬁbn_

- JduwnhjwGmp :i..,;;N
09132200 _ 990000] 4,
nhGwlwh whwnypGbp L gpuwubGwlyughG Gnipl . 160 000
30197631 [pninp A4 PDLH LnnLLh 2 500 7,000
30197331 |nulhs PLU3 |hwwn 3,500 | 2,400 2
30197233 |pnthwwwlwy PLUI |hwun| 120 2,400 20
30197232 |wpwqulwnp PCUI |hwwn 120 4,500 20
30197230 |pnpwuwwlwly FCUI |hwwn 15 2,550 300
30197232 |pnpwwwlwl,wpwqulwn pnpjw PCUI |hwwn 50 10,000 51
30197234 |pnpuywiuly, Ynown Juquny LU [hwwn 1,000 1,600 10
30199231 |Owdwilh dSpup PLU3 |hwwn 40 1,600 40
30199232 |épwp, Uks, A4 dnpumnh hwdwp PCUR |hwwn 80 2,000 20
30234300 [nuunwnl ujwjwpwl, wpulg nnuhh,| PEUI [hwn 200 3,600 10
30192121 |qunhbunp qphs POUS [hwwn 120 1,500 30
30192128 [qbwjhG aphs PLUR [hwwn 150 3,500 10
30199420 |pninp, Wonidubph hwdwp LU [hwwn 350 8,500 10
39263200 |qpuubklywluiht ghpp, dwwnywl, 7{ FCUI [hwwn 850 3,300 10
30197322 |Juphsubp, 20-30 phpeh hwdwp | POUR [hwwn| 1,100 4,500 3
30197323 |Yuphsubp, 30-50 phpph hwdwp | PCLUI [hwwn 1,500 3,500 3
30192710 |unubdwdwwnhwu, gpuwubklyuluyhtt | FCUI [hwwn 350 2,400 10
24911200 |unuhta, Euniupw PLU3 [hwwn 480 3,000 5
30192720 |qbwlivhs (Uwmpltp) PLU3 |hwwn 300 5,000 10
30192135 |qnudbhunk thontly, dwunhwnh hudu] PLUI [hwwn 500 2,000 10
30192136 |dwwnhwn, gpubhnt mknunnpynn U] PLUI [hwwn 200 10,500 10
30192152 | Juhp, wjwnndwwn, finp PLU3I |hwwn 10,500 5,000 1
30197111 [Juphsh Uknnwunujwpk uwbp, th PLUI [hwwn 100 12,500 50
30197112 |Yuphsh dbnnwunuupk Juubp, dh| PCUI [hwwn 250 10,000 50
30141200 | hwodwuwpp, gpuubkiyuljughl PLU3 [hwwn 5,000 1,250 2
30192114 |pwlwp, snnwdyh, pupdhljh PLU3 |hwwn 250 500 b
30192100 [pkwinhl, hwuwpul PLUR [hwn 100 1,000 5
30192750 | $inUwunbplbph hwjwpwsdnt PLU3 [hwwn 500 [ 14,400 2
39263320 |opwgniyg, Wwiunh PLU3R |hwwn 3,600 10,000 4
30197210 wy, npuk tpp dhwgy. i PCUS [hwwn 1,000 | 100,000 10
- SGumbuwluwBwwpwlptp @ = 2 0 - 10800}
39836000 | wyky, unynpuljuile LU [hwn 900 6,800 12
39837000 |guhiuyk) £LU3 [hwwn 1,700 5,000 4
33761000 |nnintiny, qgniqupuith pougpe PCUR [hwwn 100 2,000 50
31531210 [1.5Ejunpuljul judy, 60W, 80W, | PLU3 [hwwn 100 1,500 20
44411110 |oph énpuly, thuljuill PLU3 |hwwn 1,500 3,000 1
39224331 |wyjwuwndwuujhg nnijj LU [hwwn 600 2,000 5
39224341 |munpuplnbp, wywundwuughg PLU3 |hwwn 1,000 8,000 2
39513200 |pnpk wldknnghljukp, Epljpkpn | PCUI [hwwn 160 5,600 50
39839100 [qnquphwl, wnpp hwdwpkjnt hwy PCUI [hwwn 1,400 8,880 4
39811300 |onh hnunwytkwn hnwnwgkpshs PLU3R |hwn 370 7,000 24
30199790 [wywnh, dudwignyyg, yuyplkwswy FCUI [hwwn 7,000 6,000 1
31681610 |hElunpulwl wywhnyhs, thuduwy PLUI |hwwn 1,200 460 5




CPV nwuwlwnpgiwl

39241210 |Ujpwwn, gpuubiyuljuihl PCLU3R [hwin 230 2,600 2
31442000 |Uwpwnlngubp, AA wkuuljh PLU3 [hwwn 130 2,000 20
39241140 [nuiiuly, gpuukbyjwljwihl, Uk PCUI [hwin 100 360 20
39831272 |uwyniug, wdwb (Jubunt PLU3R [hwn 30 2,400 12
31683100 |knwpwshuhs 3w, 3U jupny PLU3 [hwwn 1,200 1,000 2
31683300 |knwpuwiohuhs, upnuljhtt Uhwg. wr PCU3I [hwwn 250 3,000 4|
39838000 |wdk] anquphwlh htw, yjwuwndu] FCUI [hwwn 1,500 6,000 2
39221160 |pwdwly Uks PLU3 [inncy 6,000 5,000 1
39221150 |pwdwl thnpp PLU3 [inney 5,000 2,500 i
39221150 |unLpGh pwdwy PCU3 [innuy 2,500 3,000 1
39221130 |phjh pwdwl PLUR [winuy 3,000 | 3,000 1
(39221210 |0ti6 wihub PLU3 [hwwn 1,000 2,100 3
39221260 |thnpp uuhub PLU3 [hwwn 2100 - 1
e e ’
12,470,000 |
OwnuwjnipjnLllbip | - .
tﬁbnquhu 6LujanjnLGﬁbn 300,000
65310000 |EGYnpwlywlnipjwl pw)funtd FLU3R [npwy 300,000 100,000 1
65210000 |quqgh pwyfunti PCU3 [npwyd 100,000 | 1
Ywuwh dwnwjnLpjnLl 600,000
72411100 | hwdwguiguithli Swinwy dunnign] POUI[npwyd 600,000 1
Uwwhnjwagpwlwb dwhuubp 70,000
66511170 [thnfuwn.wwwhnywgpwlwi swhuubp [RCUI [npwy 70,000 1
SwiwlywpswihG dwnwjnipjntGGbp 250,000
72120000 3IwdwluwpghsGbph Gnp.éwnwynip.  [PCUI[npwyd 250,000 1
PLpph pwdwlnpnwaqpnipjwl wnwjnipjnil 100,000
92410000 |ptipptinh pwdwlnpnwagpnipjntl [PCU3[npwd 100,000 1
UwulGwghunwlwl OwnwjnipjnLblhip 50,000
70000000 [gnijph Ghwndwdp hpwynilph qpwig] AU [npw 50,000 1
[ UbipkiGwGhiph JGpwGnpnqiwl dwnw)nipjntGikp 500,000
50111130 |dbpbOwGEph Gnpnqiwl Swnwjnip)nill U3 [npwd 500,000 500,000 1
45460000 Eliptnh, ohlmp) pbpuighl inpng|PCURJnnwd 500,000 19,640,000 1
Q0nud shwOnhuwgnn wyj 6whubp - @ 19,640,000 0 =
99600000 whuwwnwyuwnd b thuno,hwmnnui X X 1
Muwwnyhpwi Lnjulkpn gjnLnuwbnwpwb
wn pjnobnnwhb swhuubph qbpwwnbuswlywb Swuwlwngi
Opwahpp
UGJwGnuip Unpwhwnipynih
pwdhG _05_funidp _1_nwu _1_&Spwahp
(puwn pynipbinwihG swiuubph gnpéwrlwywb wuwlwnglwh) COnwuiklp
QGowh wnwplwjh 9GiwG Qwihd|  Uhwdnph Swftuutip Pwlwlp
Uhpw(ghl | wOjwGnLap (0Gpwg{shwd]  ahlp (nnw)

2,100,000

CGnwuklp| [x e

Muwwnyhpwi Unjuipun gjntnuwbwnwpwl

wn pynobnwihG swhuubph gbipwwnbuswlywl $wuwlwngi

Opwahpp

UGJwGnuip hwGghuwn dwynp,ynpnb




pwdhG 08 funtdp 5 _nwu _1_épwghp
(puwn pynobitnuhG dwiuubiph gnpéwrliwlwi wuwywngiw) COnwdtOp
QGowh wnwpywjh QGiwe {2wthy|  Uhwynph Swhuukip ewhwyp
Uhpw(ghy | wwaniop (nGpwg{thwyr  ohlp (npw)
CPV nwuwlwpqiwb 4wna) (npw) 6
1 2 3 4 5

1100000

ownuwjnitpjnLGobp - 50,000 |
pwlnipwihG shongwnnid.yuqiwlbpy. Swowjniy 100,000
75121400 |pwOwlh Yuwgiwynpnd PCU3 [npwd 50,000 50,000 1
75121400 |dwpwnh 8,wwnhih 7 PLU3 [npwy 100,000 300,000 1
75121400 |Ubpohl qulq PCUIR |npwd 150,000 200,000 1
75121400 |pbpph winb PLUR [npwy 300,000 1
75121400 ) 1
75121400 |wdwlnp L untpp 6GnLln rCUS 400,000 - 1

npwy

~ GGnuo shwinhuwgnn wyj 6whiubp

X #REF!

1,100,000

DGnwkGp| kx| I

Twwnydhpwi Lnjuytpn gjninuwbnwpwb

w pynipbitnwyhl dwhuubph gbpwnbuswlywh Hwuwyunpagui

Opwahpp

UGquwGnLip unghjwywh hwwnntly wpwnnGnipyniGGhn

pwdhG 10 funtip _7_nwu _1_épwghp COnwdikap

(puwn pynuobitnughG dwhuubiph gnpéwnGwlwl Swuwywpgiwh) Swluubip

QGUwh wnwpywjh QGuwa {2wihdl  Upwdnph (npwd) Pwlwlyp
UhowGghy I wGywGnilp (nGpwgy Ghwyn ahlp 6
CPV nwuwlwpqiwb Ywnq) (nnwi) — -
1 2 3 4 5
UupwOplbp

Uy WnwGpGEn

dwnwjnipjntlGbp
2,800,000

s hwGnhuwgnpuwjpowubp. - - 0 -
99600000 |hninwplwynpnipjwl GwwuwnObip X X 1,000,000 #REF!
99600000 |wyj) Guwwuwnlbbp X X 2,800,000

3800000
GnwukGp| e iilx | l I
Muwwnyhpwi Lnjuljkpn gyninwwbitnwpwb
i pjnLobinwihG dwiuubiph qtipwwbuswlywl Pwuwlwpgut
Opwaghpp
UGwhniip pwpdpwqnt) tSwubwqhwnwlwb Yppnipynil COnwdiklp
pwdhlG 9 funip _4_nwu _1_6pwahp Swhuutip
(puwn pyniobinnwyhl éwfuubiph qnpéwnbwlwl dwuwlwpgiwh) (npwo)

QGiwh wnwpywjh aQGuwh {2wthy|  Upwynph S Pwlwlp
UhowGghl | wiywonLap (Gpwoiohwdy|  ahGp [
CPV nuuwlwnpgiwb Juwng) (npw)
2 3 4 5

300,000

#REF!



99600000 |wj; GujwuwnGhip [x [x |  1,200000] [
300000

DGnwikGp] Bk | |

MNuwwndhpwi Unjultpu gjninuwbnwpwl

wn pynepbinwihb swhuubph qbpwwnbuswlywb Swuwlwpgi

onwaqhpp COnwuikhn

UGwhniip $hGwbuwlwhb wowlgnipinil hwuwp.uqiwlybp. Swtuubip

pwdhG 10 punwdp 7 nwu _1_6épwghp (npwo)

(puwn pynobiinwphG dwhuubph qnpéwniwlwl wuwlwpgiwh)

QGdwl wnwpYwjh QGiwa {2wihd|  Uhwynph
UhguwGghl | wtwtniop (Gpwg{thwyr  qhlip
CPV nwuwlywnpqiw Ywna) (npw)

2 3

4

CGnwokGp| [x b | [
Muwwnyhpwt Lnjulipun gjnLnuwbnwpwl

i pjnobinwiihb dwhuubiph gbpwnbuswlwl wuwlwnglt

Opwahpp COnwiklp
UGJwbniop Jupswlwb pynepbijh wwhniuwnwjhG $nln Swfuubip
pwdhG 11 funwip _1_nwu_2_ 6pwghp (npw)
(puwn pyniobnwihG dwiuubph gnpéwrlwlwhl wuwlwpgiwb)

QGEwa
(nGpwg

QOowl wnwplwjh
whdwhnLdp

Quithd
Ghwyn

UhguGghy |
CPV nwuwywnpquiwb

Uhwynph
qhlp

DGnwokGp| [x x|

Muwwnyhpwi Lnjulipun gjninuwbinwpwl

i pynepbinwihl dwhuubiph gbpwnbuswlwl wuwlywpguit

Opwahpp Chnwiklp
UGJwGnLip twhwnwpnguljub Ypenipmnel Swluutip
pwdohG 9 hunwdip _1_nwu _1_épwahp (npwv)
(puwn pjniobinwihG swhuubph gnpéwrlwlwl Swuwlywngqiwb) 6
QGowh wnwplwjh Qauwh {2wthd|  Uhwynph . Pwlwlp

UhgwGghl | wywantop (0Gpwgyhunl]  ghlp
CPV nwuwlwnpgqdiwhb wnq) (npwiy)

1 2 3 4 5 7
UwpuGpitp = =

UpluwitnwOplbp




DGnwikip| T

11200000] |

Muwwnyppwi Lniuljkpun gjninuwbinnwpwh

wn pynobinwihl dwhuubph gbpwwnbuswlywl Pwuwlywnpgi

Opwahpp Chnwikbp
UGJwbnLip spudwinwlupupnud Swfuubip
pwdhlG 6 funip _6_nwu _1_&pwaghp (npw)
(puwn pynuobinwghG swiuubph gnpswelwlwl Pwuwlwpgiwl) 6

QGdwh wnwnpywjh aGUwG 2wyl Uhwdnph
Uhowlghl | wywaniop (nGpwg{shwyr  ghlip
CPV nwuwwnpqiw juwna) (npw)
1 2 3 4 5
T = e

- wyypubipliiph dwnnignid
SwnwinipnLl
SuwRAIRLGG

~ 90nud shwlnhuwgnn wy 6wfuubp
wpunwywng hpwdhdwyltp

Lwlwyp

2500000 '

1,000,000 |

CGnwikhp| {x [x

| 0GnwikGp| |x

3500000

51 887000[ ]




